
ASSEMBLY INSTRUCTION
MODEL : TF-2S32-H

Hand Crank Height Adjustable Table Frame
(4 & 5 Feet Length)



Axle Drive L800mm
Qty : 1

Axle Drive L300mm
Qty : 1

Hex Shalf L175mm
Qty : 1

Stand L Plate Right
Qty: 2

Screw M5
Qty : 32

Left Column
Qty:1

Side L Plate
Qty : 2

Right Column
Qty: 1

Foot
Qty: 2

Stand L Plate Left
Qty: 2

Screw M6 X L16
Qty : 8

Leveling Base
Qty: 4

Tapping Screw
5 X L30
Qty : 4

Axle DriveHolder 
Qty : 2

Crank Handle
Qty : 1

Front L Plate
Qty: 2

Hex Shalf L430mm
Qty : 2

Component List - TF-2S32-H



1

2

C

3

4DETAIL C 
SCALE 1 : 5

Marking Left stand 
Direction

5

6

7

STEP 2 : Install Foot

STEP 3 : Install Stand L Plate

Step 1 : Install Leveling Base

ITEM NO. DESCRIPTION QTY.
1 Foot 1
2 Leveling Base 2

ITEM NO. DESCRIPTION QTY.
3 Left Column 1
4 Screw M6 4

ITEM NO. DESCRIPTION QTY.
5 Stand L Plate Right 1
6 Stand L Plate Left 1
7 Screw M5 8

Assembly Instruction: Left Stand Assembly



1

2

E

3

4DETAIL E 
SCALE 1 : 5

Marking Right Stand 
Direction

6

5

7

STEP 2 : Install Foot

STEP 3 : Install Stand L Plate

Step 1 : Install Leveling Base

ITEM NO. DESCRIPTION QTY.
1 Foot 1
2 Leveling Base 2

ITEM NO. DESCRIPTION QTY.
3 Right Column 1
4 Screw M6 4

ITEM NO. DESCRIPTION QTY.
5 Stand L Plate Right 1
6 Stand L Plate Left 1
7 Screw M5 8

Assembly Instruction: Right Stand Assembly



4 Feet Model

1

2
3

3

4

4

1

2

3

3

4

4 5 Feet Model

ITEM NO. DESCRIPTION QTY.
1 Left Stand Assy 1
2 Right Stand Assy 1
3 Front L Plate 2
4 Screw M5 8

ITEM NO. DESCRIPTION QTY.
1 Left Stand Assy 1
2 Right Stand Assy 1
3 Front L Plate 2
4 Screw M5 8

Assembly Instruction: Integrate Left & Right Stand



1

2

3

3

4

4

A

1

2
2

3

3

DETAIL A 
SCALE 1 : 6

Step 2 : Install Side L Plate

Step 1 : Install Axle Drive

Notes:
Before Insert Hex Shaft, make sure 
Left Stand & Right Stand are 
at Lower position.

Press Down

Press Down

ITEM NO. DESCRIPTION QTY.
1 4 Feet Assy 1
2 Axle Drive L800 1
3 Hex Shaft L430mm 2
4 Set Screw M5 4

ITEM NO. DESCRIPTION QTY.
1 4 Feet Assy 1
2 Side L Plate 2
3 Screw M5 8

Assembly Instruction : Install Axle Drive & Side L Plate ( 4 Feet Model )



AK

1

4

Insert Crank Handle

1

2

DETAIL AK 
SCALE 1 : 6

2

2

3

5

6

6

Step 2 : Insert Carnk Handle 

Step 1 : 

ITEM NO. DESCRIPTION QTY.
1 4 Feet Assy 1
2 Axle Drive Holder 2
3 Axle Drive L300 1
4 Hex Shaft L175mm 1
5 Set Screw M5 1
6 Tapping Screw 5 X L30 4

ITEM NO. DESCRIPTION QTY.
1 4 Feet Assy 1
2 Crank Handle 1

Assembly Instruction: Install Crank Handle Assembly ( 4 Feet Model )



1

2

3

3
4

4

AB

1

2

2

3

3

DETAIL AB 
SCALE 1 : 6

Step 2 : Install Side L Plate

Step 1 : Install Axle Drive

Notes:
Before Insert Hex Shaft, make sure 
Left Stand & Right Stand are 
at Lower position.

Press Down

Press Down

ITEM NO. DESCRIPTION QTY.
1 5 Feet Assy 1
2 Axle Drive L800 1
3 Hex Shaft L430mm 2
4 Set Screw M5 4

ITEM NO. DESCRIPTION QTY.
1 5 Feet Assy 1
2 Side L Plate 2
3 Screw M5 8

Assembly Instruction : Install Axle Drive & Side L Plate ( 5 Feet Model )



AG

1

4

DETAIL AG 
SCALE 1 : 6

2

2

3

5

6

Insert Crank Handle

2

1

Step 2 : Insert Carnk Handle 

Step 1 : 
ITEM NO. DESCRIPTION QTY.

1 5 Feet Assy 1
2 Axle Drive Holder 2
3 Axle Drive L300 1
4 Hex Shaft L175mm 1
5 Set Screw M5 1
6 Tapping Screw 5 X L30 4

ITEM NO. DESCRIPTION QTY.
1 5 Feet Assy 1
2 Crank Handle 1

Assembly Instruction: Install Crank Handle Assembly ( 5 Feet Model )


	Cover Page
	Drawing View103

	Component List
	Drawing View5
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12
	Drawing View13
	Drawing View17
	Drawing View19
	Drawing View23
	Drawing View106
	Drawing View107
	Drawing View108
	Drawing View109
	Drawing View110
	Drawing View132
	Drawing View134
	Drawing View135

	Page 1
	Drawing View26
	Drawing View27
	Detail View C (1 : 5)
	Drawing View29

	Page 2
	Drawing View30
	Drawing View34
	Detail View E (1 : 5)
	Drawing View36

	Page 3
	Drawing View113
	Drawing View114

	Page 4
	Drawing View115
	Drawing View116
	Detail View A (1 : 6)

	Page 5
	Drawing View128
	Drawing View130
	Detail View AK (1 : 6)

	Page 6
	Drawing View118
	Drawing View119
	Detail View AB (1 : 6)

	Page 7
	Drawing View121
	Detail View AG (1 : 6)
	Drawing View124


